Manuals+ — User Manuals Simplified.

MATT BLATT MBTAMBABKSA Tamba Bookshelf User Guide

Home » MATT BLATT » MATT BLATT MBTAMBABKSA Tamba Bookshelf User Guide ™

Contents

1 MATT BLATT MBTAMBABKSA Tamba
Bookshelf

2 TAMBA BOOKSHELF

3 Product Components

4 Assembly Instructions

5 COMPONENTS

6 INSTALLATION INSTRUCTIONS

7 Documents / Resources

MATT BLAT T

MATT BLATT MBTAMBABKSA Tamba Bookshelf


https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/matt-blatt
https://manuals.plus/matt-blatt/mbtambabksa-tamba-bookshelf-manual.pdf

TAMBA BOOKSHELF
Model Number: MBTAMBABKSA

Product Components

o Leg (x2)

« Shelf (x4)

« Pole (x4)

« (16x6mm) Allen Bolt (x24)
o (16x8mm) Washer (x24)
o Allen Key (4mm)

« (10x6mm) Allen Bolt (x4)

Assembly Instructions

Attach the legs (1), poles (3), and shelves (2) together by lining everything up with the existing holes.
Insert the 16x6mm Allen Bolts (4) through the holes and secure them with the 16x8mm Washers (5).
Use the Allen Key (6) to tighten the bolts securely.

Attach the remaining poles using the 10x6mm Allen Bolts (7).

o > 0 bp o~

Gently lift the Bookshelf and place it upright on a level surface.

The assembly is now complete!



Notes

If you need additional information or assistance, please visithelp.mattblatt.com.au for the most up-to-date guide
for your product.

COMPONENTS
.-'"‘-,‘Jr:-’); — _‘-—-’-j = T e —
___,”-'::;r:f /i%;%}-”ﬁ E‘c“}‘x 5, e
,-/ '_,_.f';ff i Re——
o __,-—"fr/; I
,—""'-,
K_:_';?“
1Lleg (x2) 2 Shelf (x4)
== —
3 Pole (x4) & (T6xé6mm) Allen Bolt (x24) 5 (16x8mm) Washer (x24)
é Allen Key (4mm) 7 (10xé6mm) Allen Bolt (x4)

INSTALLATION INSTRUCTIONS
Step 1

« Attach the legs (1), poles (3), and shelves (2) together, lining everything up with the existing holes.


http://visithelp.mattblatt.com.au

Step 2

« Secure the shelves (2) to the legs (1) using the 16x6 bolts (4) and washers (5).

« Secure the four poles (3) to the legs (1) using the 10x6 bolts (7).

L~

4 Allen Bolt (x24)

5 Washer (x24)

& Allen Key

AR

=

A



Step 3

« Gently lift the Bookshelf and place it upright on a level surface.

NEED MORE INFORMATION?
We hope that this user guide has given you the assistance needed for a simple set-up. For the most up-to-date
guide for your product, as well as any additional assistance you may require, head online to

help.mattblatt.com.au.

Documents / Resources


http://help.mattblatt.com.au

MATT BLATT MBTAMBABKSA Tamba Bookshelf [pdf] User Guide
MBTAMBABKSA Tamba Bookshelf, MBTAMBABKSA, Tamba Bookshelf, Bookshelf

TAMBA BOOKSHELF
User Guide

Manuals+,


https://manuals.plus/m/f8f71cfa8577b987cf9d04a194abe96710cf3055ce9bbd29ac81a7371e9c9cbc
https://manuals.plus/m/f8f71cfa8577b987cf9d04a194abe96710cf3055ce9bbd29ac81a7371e9c9cbc_optim.pdf
https://manuals.plus/

	MATT BLATT MBTAMBABKSA Tamba Bookshelf User Guide
	MATT BLATT MBTAMBABKSA Tamba Bookshelf
	TAMBA BOOKSHELF
	Product Components
	Assembly Instructions
	COMPONENTS
	INSTALLATION INSTRUCTIONS
	Documents / Resources


